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A DIl

NAC DECDNAMNCIPIIITIE

Title Pg. o, | Title » | _ Preamble: P | |
| accept the call to responsibility that comes with the many rights and freedoms that | have been privileged to inherit from the sacrifice and suffering of
| Count, sort, and show! 2 33 Tar‘set 200 7b those who came before me. | apprgciﬁtg that the rights enshrined in the ConsFitution ofAthe Republic of South Afrisa are inseparable from my
uties and responsibilities to others. Therefore | accept that with every right comes a set of responsibilities.
2 Clever count,ing 3L Working with groups of numbers 18
, , MY RESPONSIBILITY IN ENSURING THE RIGHT...
3q Numbers on a hundred board 35a Puttlng tens together‘ and taklng them 80
apart TO HUMAN DIGNITY T
3b Numbers on a hundred board (continuecl] 8 P
35b | Putting tens together and taking them 82 . i ]
9 9 9 treat people with reverence, respect and
A Place value @) apart (continued) that we are all the same. dignity as we all belong to the human . treat every person equally and fairly.
— : Our country’s motto: !KE E: /XARRA // race.
5 Addition and subtraction 12 3b A visit to the dentist 8L KE, meaning “Diverse people unite”, calls - to be kind, compassionate and sensitive o R
- on all of us to build a common sense of to every human being, including greeting . nottodlsc.nmlnateun airlyagainstanyone
b Doubles and halves |[|. 37a | Add and combine 8b belongingand national pride, celebrating zl:)il:wtec:':rjill';nly and speaking to them on thelbams ofrace;]gﬁ:nder,sex,F)rIegn.arfcy,
. f p the very diversity which makes us who ) marital status, ethnic or social origin,
7 Fractions lo 37b | Add and combine (contlnued] 88 we are. It also calls on us to extend our colour, sexual orientation, age, disability,
. it 90 friendship and warmth to all nations ligi i belief, cult |
S | 38 Solve it/ P religion, conscience, belief, culture, class,
8 or‘tlng money 8 and all the peoples of the world in our language or birth.
q Patterns 20 39 Count and calculate 92 endeavour to build a better world.
O | Measuring in centimetres 9
1O | Balls, boxes and cyinders 22 b g :
LI | Target 300 % TOLIVEINA SAFE : TO OWN PROPERTY
” quw' name cnd °°mP°'"e 2D Sthes 21" 2 Add d b . . h IOO q8 ENV' RONM ENT « thisrightmustneverbeusedforexploitation
X 4‘ INg and su t"‘°°t"”9 wit S by exposing children to child labour.
|2 Time passes 26 " 43 T t [|- 00 100 - promote sustainable development, and the - respect the property of others.
arge conservation and preservation of the
|3 Measur‘ing |en3th 28 ll-[i- W . h . |02 natural environment. TO F REE DOM AN D « take pride in and protect both private and
i elg Ing n - protect animal and plant-life, as well as the SECUR|TY OF THE b P
M. CGPQCIt’U 30 *a 45 Target 500 |Ol|- responsibility to prevent pollution. PERSON public property, and not to take wha
- - - not to litter, and to ensure that our homes, belongs to others.
15 Worklng with mass 32 . Lb More Gdaing and subtroctins 106 schools, streets and other public places are - not hurt, bully or intimidate others orallow
[ D h &I 3 . keptineatanditidy: otherstodo so. - give generously to charity and good causes,
b ata han Ing lp [|.7 Sharpen your skills 108 «in the context of climate change, we are « solve any conflict in a peaceful manner. where | am able to do so
17 c dord b 3b 48 5 t 110 also obliged to ensure we do not waste + to take action to protect my safety and the '
omPare and order numbers Hmme f‘t»j scarce resources like water and electricity. safety of others.
18| Place value to 99 38 &9 Bulding up 0 500 12 TO FREEDOM OF TO CITIZENSHIP
. 50 | Multiplication and division (IO Il TO FREEDOM OF
19 Puttlng tens together when we add to 99 O P ( ] b REUGlON, BELIEF AND EXPRESSION - to participate actively in the activities of
20 Add bor | o 5] Count in 2s llb OPINION the community and affairs of the country.
a on anumbper line A - obey the laws of our country, ensuring
K K 52 Pave with tiles 118 - allow others to choose and practise the - express views which do not advocate that others do so as well.
QOb Acld ona numloer‘ ||ne (cont,lnued] [,.A. ; ] religion of their choice, and to hold their hatred, or are based on prejudices with - contribute in every possible way to
53 USlng FIVeS |2O own beliefs and opinions, without fear or regard to race, ethnicity, gender or making South Africa a great country.
2la Subtract on a number line l,.b - - i prejudice. religion.
i . 54‘ W°rk'”9 Wlt’h time |22 - respect the beliefs and opinions of others, « we must therefore take responsibility to
2"3 SUthGCt ona number‘ line [contlnued] 4-8 55 C ti 3 d l|- |2[|_ and their right to express these, even when ensure this right is not abused by ourselves
B ount in s an S we may strongly disagree with these beliefs or others, to not tell or spread lies, and to - protect and defend the lives of others.
22 It S Pdrtﬂ time 50 56 Count in 505 |2b and opinions.That is what it means to be a ensure others are notinsulted or have their «not endanger the lives of others by
) free democracy. feelings hurt. carrying dangerous weapons or by acting
23 Countlng UP to 200 52 57 Frcctions: ha|ves qnd oluarters |28 Irecklessly or disobeying our rules and
aws.
2l|- Practice with 5s 54- 58 Fractions: halves, thirds and sixths 130 TO FAMILY OR TO EDUCATION «live a healthy life, by exercising, eating
ly, by not smoking, taking alcohol,
i i ~ PARENTAL CARE -t
250 Count n 25 5b 5q Fractlons: ﬂf‘ths |32 .« attend school regularly, to learn, and to ortaklpg drugs,orlndulglng|n|rresApon5|bIe
60 3D obiject |3[|_ honourand respect my parents,and to help work hard. behaviour that may result in my
. . o 1 ina inf infecti h ith
25b | Count in 2s [contlnued] 58 objects them. « cooperate respectfully with teachers and zie;:ie:‘sicct:gs zrwl:ne‘;:;lrgs.ot ers wit
26 Mone t,hen and now bo bl Double and half |3b « to be kind and loyal to my family, to my fellow learners.
2 62 | More double and hal 38 brothers and sisters, my grandparents and - adhereotheruiesandihe CodeofConduct - VST IRy
i i f the school.
27 | Countin 3s 62 ore double and halving I Ell '?'at':s; | oot orheschoo AND CAREGIVERS THE RESPONSIBILITY TO:
. - recognise that love means long-term
. n 63 C"‘OUP Qnd Comblne |l|-o commitment, and the responsibility to AND PLACES ON MY TEACHERS THE « ensure that | attend school and receive
28 | What comes in 457 bl ) ) b RESPONSIBILITY TO: ;
bl Maths fi 142 establish strong and loving families. their support.
2q Patterns in numbers bb arhs Tun « promote ar\d r.eﬂeActAthe culture of lgarning . en;urﬁ that | participate in school
Cut out | and teaching in giving effect to this right. activities.
30a | Division 68 « to eliminate unprofessional behaviour. - create a home environment conducive
Cut _out 2 to studying.
Division [continued] .
Conclusion:i accept the call of this Bill of Responsibilities, and commit to taking my rightful place as an active, responsible citizen of South Africa.
H By assuming these responsibilities | will contribute to building the kind of society which will make me proud to be a South African.
Fractions
I b This Bill outlines the responsibilities that flow from each of the rights enshrined in the
t's about time Constitution of the Republic of South Africa.
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Estimate how many stars.

Now count them.

Find the winner!
Who made the best estimate?

Fill in your names and answers in this table.

Ndme

Estimate

Number counted

Difference between
your estimate and

your count

| 2 8 &4 B 6 7 © 9 [0




I counted f
in fives.

3 al < >

L

iz T counted
S SRR VN S S S ——— in tens.
’

Write number sentences
Count the total number of |oi3 and small stars in
the Picture on page 2.

¢ Whrite them in two ways.

Big Smadll like this or

Lw-

* and as a number sentence.

12 18 14 15

When you add any two

numbers it does not, matter
what, their order is.

like this

16

17

liS

1€ 20
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P~ Clever counting
Q * _ Counting the Pumpkins

Find an easy way to count them.

How many bags can you fill with the Pumpkins?

HOW mqnﬂ Pumlokins are |eft over‘?

How many more PumPkins are needed to fill one more bqg?




From + to X (addition to mu|tiP|ication)

Comp|ete the number sentences.

-
Exomp|e:
\IO +10 +10 +10 = LO== L groups of IO = LO== £ X'10 = 4O

a IO+10+10=
groups of 10 = — X =

O+I0+10+10+10+10+10+10 =
gr‘oupsoﬂO: — X =

HOW mdng hqnds?

Write your answer in2 ways.

groups of IO = and X 10 =

11 12 18 14 15 16 [7 18 19 20
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Numloers on A hunclr‘ecl |ooc1rc|

Ta"(ins numbers
Count and say all the numbers from | to 100. Point as You go.

1 2] 3| 4| 5|6 8 | 9110
|
2]

3L 4O

Ll
95
63
7l
8b
9% 100

a.  Whrite the missing number in each blue block.
b.  Whrite in the other numbers.

c.  What kind of numbers are the He”ow numbers?
N w

2 Whrite the numbers in words.

q0 ninetﬂ A

71 ob

b3

| 2 8 &4 B 6 7 © 9 [0



|23L5678q [2]3]c[E)o][7][e]afio) | [ (@@ s]c]7][8]q]0
[e]s]w]se] e[| @) | [n]e]s]w]s]e]n]e]a]2o] | [n]e2]s]w]s]e]r]is]a]o
21| 22| 23|21 | 25| 26] 27| 28] 20 30| | |21]22|23] 21 25]26] 27| 28] 2d 30| | |21 |22]23]2s|25]2627]28]2a]30
31 |32]33] 3L 35|36 |37 ]38[39]10| | |ai]32]33]3L s8]0 57]38]3a]c0| | |31 ]s2]333s]a5]36]37[38]39]u0
L]e2|u3]ue|Ls|uo| w7 ]u8]ua]s0] | | u|e2|u3]ue]es|eo|ur[u8ualso] | |wi[s2]e3]is]us|uo]47]i8]ua[s0
51 |52|53| 5. 55|56 | 57| 58] 59]60| | | 51]52]53]5L 55|56 57 |58]59]60| | |51 [52]53 |50 [55]56| 57|58 59|60
ol |62]63 6L [65] 66| 67[68[69[70| | [ 61 |62]63]6L|65]06|67[6869[ 10| | |61 [62]63 0L [65]06] 67] 086970
7| 72|73| 7|75 76| 77| 78] 79 |80| | [0 ]72]73] 7] 75]78] 77| 78] 79 80| | |7 ]72]73] 7175|7677 | 78] 7480
8l |82|83] 8L [85|80 |87 ]88]8a|a0| | [ei]s2|e3]eL|ss]80]87|8s]sala0| | |8l |s2]e3]sL|85]80|67]88]8a]q0
ai|a2 ]93] aL [as| a6 |97 [ e8] aalioo| | [ar]a2|as|as|as|a6]qa7]a8]aalio0] | [ a1 |a2]as]au|as]a6|a7]a8 a0

Count and colour the O:s. COU?:O?%C:LOTCS g?e Os Count and colour the 2s.
Count in |Os from Count in s from Count in 2s from
|0 to0 100. 510 100. 2 to 100.
Write the IOs from Write the 5s from Whrite the 2s from
1O 1o 100. 51t080. 210 100.

1 1z 13

|15 16 7

1§ 19 20
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3 5| b | 7|8
12113141516 |17 |18 |19 |20
20 1221232412526 |27 (28|29 |30
3l |32 (3334|3536 |37|38|39]|40
LI | 42 | L3 | bb | LS| Lb | 4T | 48 | 49|50
ol |52 | 53 (55|55 |56 | 57|38 |89 |60
bl |62 | 63 | b4 |65|bb|bl|b68]|69|70
TN {7273 |74 |75 |76 | 77|78 |79 |80
8l |82 8384|8586 |87|88|89|90
94 1929394 |95 |9 | 97 | 98 | 99 |I00

Tick (/) all the IOs Cross (X) the Os Circle [O) the 2s

Whrite the numbers that are in both the 2s and the 5s Pattern.

| 2 8 &4 B 6 7 © 9 [0



Countins Patterns

Fill in the missing numbers.

O; IO, 20, , ) 50, ) ) 80, , IOO,

, |30, ) ) Ibo, ) ; , 2OO

O;5;10; ; : 25; ; ; L.O; : 50; 85; ;

. 10; ; - 85; ; 100

O;2; 4; b; ; 12; ; :18; 0 22; 2L ;

: 30; ; - 3b; 38; ; ; WA Y

O; . 8; . 1b; 20; . 28; . 3b;

. 52; ; ; b ;12 ;80

O; . 10; : 20; :30; ; L.O; ; . 55;

60; . 10;7195; ; 89; ; ;100

O; 3; .9, 15 18; ; 2L ; : 33; . 39;

; LO; ; .94 57, . 63; ; . 12;75

11 12 18 14 15 16 [7 18 19 20
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P|c|ce vc|ue

Showins HOUP number‘s

Cut out the number cards from Cut.-out sheet |.
Use the cards to build these numbers.

L3 69 TA

q ‘e000000000
000000000

B IIII
i
=
7

Now do it 30urse|f for these numbers usins Cut-out |.

TA

IO+9=19

LO +3 =43

| 2 8 &4 B 6 7 © 9 [0



- i S s * X w

Wr-itins these numbers

\A/e can GlSO
We have done the first one for Yyou. say 9 ones.

IO +9 [ten + 9 unitsl/ nineteen

Write the first five numbers, in the table above,
Lz in order from smadllest to bigsest.

11 12 18 14 (& 16 [7 18 [9
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Addition and subtraction

Lebo's stall
Inthe mor‘ning Lebo has 19 chkets of GPPleS.

BH lunchtime she has |3 Pockets left.

a. How many Pcckets does Lebo sell?

b. Write your answer as d number sentence.

Whrite five other numbers sentences to show the same answer-.

5-9=06

10+ 5= I+6= I, -8 =

Il +5= 7+2= 4 5=

2+ b= 3+ (3= b I3 =
[ +15=

| 2 8 &4 B 6 7 © 9 [0



gy

Can You find all the number families of 147

|+ 13 =14 13+ 1=14 lL—1=13 14 —13 =1

2+12=

3+1I=

L +10=

5+9=

b+8=

7+7=

I am qoing to do
the sagme vsvith |2.

| +11=12
2+10=12
3+9=12
L+8=1I2
5+7=12
b+b=1I2

11 12 18 14 15 16 [7 18 19 20
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Double 20 is LO L is double 2

We can show this in a dmwing Ce

* Find one half of 3.

Show as a number or number name. A clr‘qwing might he|P you.

| 2 8 & B 6 7 © Y



Double the number using a number line.
The first examP|e is Siven to you.

lD. DouHe 5 + =
T T T T | | -
o 2 3 4 b 7 8 9 10
c. Double 20 + =
T T T T | | -
O 10 20 30 LO 50 60 70 80 90 10O
d. Double 4,0 + =
U | —T
20 30 4O 70 80 90 100
Complete the fo"owins ComP|ete the fo"owing
a. Double | 2 a. Half b 3
b. Double b b. Half 8
c. Double 1O c. Half /A
d. Double 30 d. Hdlf 60
e. Double 50 e. Hdlf 70

1 12

13

4

I'5

16

17

liS

1€ 20




the rest blue.
Colour one half of each box red.

Look at the shaPes. Tick the
shqpes that show halves.

is divided into halves.

Colour one quqr‘ter‘ of the balloons red and

Colour one hadlf of each shape that

oooooooooooooooooooooooooooooooooooooooo

SN
SV

Look at the shdpes. Tick the shdpes that show quarter‘s.

Colour one quar‘ter‘ of each shcpe that, is exact|3 divided into ecluc1| clucrters.

N

/ 1\
SN
NV

/

16

I 2 8 & B 6 7

g 9 10



Colour in a half of the shqpes. What is a half of the number of the shqpes?

one quor‘ter‘

] L]
A =]
Draw more shcpes to make each o[uarter equa|.
[] [ ]

LI
O]

11 12 18 14 15 16 [7 18 19 20




Sor‘ting money

At the stokvel
Ma Lubisi counts and sorts the money from the group.

AH9464322C

AE8540001 B

AE85400018

‘.-—————————————————————————————-\

Compar‘e estimates
and totals.

i )
Grugu saves for a Pair‘ of shoes that costs R89.
So far she has half the amount.

HOW mucl'\ more does she neecl?

Whrite a number sentence to show your answer.

| 2 8 &4 B 6 7 © 9 [0




Maria sorts the notes into Pi|es of .
She also has some notes left over.

White the totals for each row of Pictures.

Amount,

. Z Cho"enge
A visit, to the zoo

Some adults and children go to the zoo.
Theﬂ buH tickets for R4O.

§ HOW manﬂ are chi|c|r‘en?

How many are adults?

Is there another answer? Ghild,
- Aduts S Adldls

11 12 18 14 15 16 [7 18 19 20
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Patterns

Use this 200 number board to answer the o[uestions.

I 2 3 L 5 b 7 8 9 10
I 12 13 |, 15 lb 17 18 19 20
2| 22 23 21, 25 2b 2] 28 29 | 30
3l 32 33 3L 35 3b 37 38 39 4O
L | 42 | L3 | 44 | LS | 46 | 4T | 48 | 49 | 5O
Sl 52 53 Sl 55 5b 57 58 59 60
ol b2 63 bl b5 bb b/ 68 69 70
1l 12 13 J/A 15 16 71 18 79 80
8l 82 83 8L 85 8b 87 88 89 90
q 92 93 L 95 96 q7 98 99 | 100
IO | 102 [ 103 | 104 | 105 | 106 | 107 | 108 | 109 | IO
I 112 113 I14 15 1[ II7 18 9 | 120
121 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
131 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 14O
T 142 | 143 | I&h4 | 165 | 146 | 147 | 148 | 149 | 150
15 152 | 153 | 154 | 155 | 156 | 157 | 158 [ 159 | 160
(o] 62 | 163 | 164 | 165 | lbb | 167 | 168 | 169 | 170
7l (72 | 173 | 174 | 115 | 16 | 7] 78 | 179 | 180
18l 182 | 183 | 184 | 185 | 186 | 187 | 188 | 189 | 190
19l 92 | 93 [ 94 [ 195 | 196 | 197 | 198 | 199 | 200

105,110, 115, , , , 87,90,93,
36, 40, 44, , , , 184,186, 188,
70,65, 60, , , , 138,135,132,
180, 76,172, : : : 4.,12,10

| 2 8 &4 B 6 7 © 9 [0



: Whrite the numbers that come next in each pattern. Then colour in the pattern.
5* What do You notice about, the numbers shaded with the same colour?

O

Counting in fives. Counting in twos.
5 1O 2 L
Counting in threes. Counting in tens.
3 b (@]

A Extend the Pot.t.ern.

A A NN
= L B

11 12 18 14 15 16 [7 18 19 20



The c3|inder‘ The ball

slides rolls slides rolls slides rolls

| 2 383 4 B 6 7 8 Y 10




oN 2 D

vy — )
) L

CUI"VGCI edge CUI"VGd edge cur‘vecl eclge curved eclge

stroight edge J stroight edge / stroight edge j K stroight edge
N I

-~

J
T

CUPVGCI edge CUPVGCI eclge CUPVGCI edge CUI“VGCI eclge

str‘c:ight edge str*cight edge stroigl'\t edge strc:ight edge
NG NG —) \Z —/

1

&’, SGH if the can is behind, in front of, next to or on top of the box.

~

N

behind in front of behind in front of

next to on toP of next to on toP of

=

1/
7
behind in front, of behind in front of

next to on toP of next to on toP of

> =,

11 12 18 14 15 16 [7 18 19 20
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DF‘GW, name qncl coqure 2D SI'\GPeS

Draw the shapes.

Tr‘idn3|e Circle

Scluar‘e Rectdn3|e

. | Counting the shapes.

Count how many shoPes like this You can find in the Picture.

.

A\
O
O

2.1

- | 2 8 4 b 6 7 © 9 10




Colour dll the

big circles r‘ecl, small circles green;
big tr‘icn3|es blue, small trion3|es orange;

blg scluar‘es He"OW, smq" sciuqr‘es PUT‘PIG;

|oig rect,an3|es brown, small r‘ectan3|es Pink.

How many sides does each shope have? Write the number in the block.

We have done one for you. Are the sides str‘qight or curved? Colour in the correct, answer.

Vom o e mm mm ———— R R T I P -——

11 12 18 14 15 16 [7 18 19 20



o clock o clock

Ji ump around the clock

He|P Minnie Mouse count, the minutes in Os.

Start at the 12. Go all the way around.

How many minutes do You count,?

How many minutes in | hour?

Writins the time
Draw the hands to show the times.

oluor'ter Post b half Pcst 8 quar*ter to |l half Post o)

| 2 8 & B 6 7 © Y



He leaves home. He gets to school.

HOW IOI’\g c]oes Zander' take?

The br‘ead 8065 The breod

into the oven. comes out.

The bread bakes for minutes.

..............................................................................................................

[ Tcanseea Pattern. :

Hours | 2 [.. 8
Minutes 60

In double time
a. Chonge the hours to minutes.

b. Mandla takes 4.5 minutes to Set to school. Zander takes twice as |on3.
: How many hours does Zander take to get, to school?

11 12 18 14 15 16 [7 18 19 20
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Together, all
the sides of this
trian3|e are

3 Penci|s |on9.

Together‘, all
the sides of this
square are

[,. Penci|s |on9.

I wonder how
|on9 and wide the
r*ectc:n3|e is.

How many Penci|s |ong is the r‘ectang|e'?

How many Penci|s wide is the r‘ectqn3|e?

|en9th

\

width

How did You use the Penci|s to count?

| 2 8 &4 B 6 7 © 9 [0



a. How many of the red lines do You need to cover the black line?

b. How many of the red lines do You need to go all the way

around the rectan9|e?

c. Whichis |on9er, the toP Pqth or the lower one, or are theﬁ the same?

11 12 18 14 15 16 [7 18 19 20




;.‘:I al :

o -

CdPocitH

The measuringJu holds 1O cups
of water. I have jreodﬂ Put two
cups into the meosuringjug.

How many more cups of water will fill the container?

How many cups of water are in the container?

How many cups more do we need to fill the container?

- @a) )
qT -

In the container: | Need more: q In the container: Need more:

-@gg )

In the container: Need more: In the container: Need more:

gg _ — b 7
g -
fe ) - el

In the container: Need more: In the container: Need more:

| 2 8 &4 B 6 7 © 9 [0



If one cup fills theJug to the second
interval, how many cups do You need

to fill the jug to:

11 12 18 14 15 16 [7 18 19 20




oooooooooooooooooooooooooooooooooooooooo

\l\/or‘king with mass )

Let.'s medasure hOW heGVH we are!

To find out. how hech or |i3ht we are, we use a scale.

We use ki|ogr‘c:ms to measure how hedvg we are.

We use this abbreviation: kg. Who weighs the most?

Answer the question. Whrite a or b.

On this scale both QPPIeS On which scale is the green o|o|o|e heavier than the red d|o|o|e

weigh the same.

D On which scale is the green c|o|o|e |ighter* than the red cPP|e

| 2 8 &4 B 6 7 © 9 [0



DF‘GW hOW anH lor‘icks or IOQ"S BOU neec]

to make these scales balance.

Two bricks weish the

same as 'FOUP lDG"S.

2 PGI"CG'S |(9

b. 3 PQPCG'S |(9

c. CanImeasure L Porce|s at the same time on this kitchen scale?

W|'13 or w|'18 not?

11 12 18 14 15 16 [7 18 19 20



oooooooooooooooooooooooooooooooooooooooo

Data hqndhng

Shoes in the class

Read the st.or‘ﬂ.
Thabo: Wow, Miss! Jack is a 9iont! He wears size b shoes!

Mrs Khoza: Welll Yes, Thabo, that is big for a nine year old!
What size shoe do You wear Thabo? What sizes do the rest of the class wear?

Let's doa surveg!

The learners call out their sizes, one l)lj one.
Mrs Khoza writes the sizes on the board.

Mrs Khoza: Count, then write how many of each size.

Fill in the table below.

Shoe sizes in the class

Size | Size 2 Size 3 Size £, Size 5 Size b

| 2 8 &4 B 6 7 © 9 [0



‘ = one ledrner

Size 2 Size 3 Size [, - Size b

Now answer these cluestions.

a. Most learners wear shoe size

b. The fewest, number wear size

c. children took qut in this survey.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

What about. HOU?

Find out what shoe sizes Yyou and your friends wear!

* Workina group of bto8.
* Collect your data.
* Whrite the number of shoe sizes in a table.

° Compare answers with other groups.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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ComPar‘e qnd or‘der‘ number‘s

7576|7778 79|80 | 81 8283 |84|85|86|87|88|89|90| 9l |92|93|94 95|96 |97 |98 |99

% .

What number is Oo R . .- O O) What, number is
before 847 O i @ between 88 and
What number is L q0?

after 847

Fill in the missing numbers.

b/

Use the number board to answer the c[uestions.

Which number is before 687?
Which number is after 687?

Whrite down five numbers smaller than 7I.

Write down five numbers bigger‘ than 7.

What numbers are between 79 and 847
Write the numbers from the smallest to |ar9est. 713,52,50, 59, bl

Write the numbers from the |ar9est to smallest. 74, 96,99, 91, 38

| 2 8 &4 B 6 7 © 9 [0



-

! 'w i

ComP|ete the table. Start with the Siven number.

one more one less ten more ten less

25
39
14
ob
4O

Circle the biggest number.

18 87 7 36 63 33

Circle the smallest, number.

99 19 9 A A 4O

If < means smaller thqn, and => means bigger thon, comP|ete:

T3 < e n[ > |8

51 98 89 )

Find 5 numbers in a newspaper between 5O and 99 and Paste them in order from
the smallest to the biggest.

4 )\

\.

11 12 18 14 15 16 [7 18 19 20

J/




Place value to 99

Showins numbers using ol?jects

Tens Units

We can show numbers with P|oce value blocks.
A small block stands for al. It is a unit.
A rod of 10 small blocks stands for a |O. It is a ten.

(
- Tens Units
You can show a number using = A 7
tens and units. -
- f\or‘ta—seven
Here is how to show /7. - L
ul y,
Wr'itins numbers in disits and words
a.  Under the Pict.ur‘e, write how many tens and how many units.
Then write the number in SSmbo|s and words.
[ ]
[ [
[ ] [ ]
[ ] [ [
Tens Units Tens Units Tens Units
3 |
3l
thir'tﬁ _one
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b. We can GlSO use our number‘ CGI"dS to Sl’\OW it.

H H
Number v many v many Write the number in words
tens? units?
26 2 b twentg -six
b
qq
What is the number?
‘ Tens Units
[
al 3 5
= thirta five
35
[
]
Tens Units
[ ]
i i
[ 1
]
Tens Units
[
[
[

]

12 13

4

15 16

17 e 1< 20

39



Putting tens together‘ when
we add to 99

Here is one way to We have one ten Now we have ancther way to show

show 22.
Tens Units

- - We have twelve 22
- - units. Tens Units

We will put (@) 2 tens 2 units
of the unlt,s in
a group. -

Let's add 27 + /. The blue blocks are the units we start with and the red units are the

units we are dclding to them.

27 is 2 tens and 7 units. We have 2 tens and Il units. Now we have
Then we add [,. more units. 3tens + | unit = 3l
Tens Units Tens Units Tens Units

2 tens 7 units We can show |O units as | ten.
+ [,. units

| 2 8 &4 B 6 7 © 9 [0




Whrite the number sentence shown bH the Pict,ur‘e.

Units Tens Units Tens Units
[

J

7

0

J

[ 7
I0O+5+6 + + + =

ComP|ete the Pictures. Write the number sentences shown bH the Picture.

Tens Units Tens Units Tens Units

7

O o

O g

0 g

T g

# @

g 0
Tens Units Tens Units Tens Units

11 12 18 14 15 16 [7 18 19 20




Sit, at. Yyour deskl!

In our school each learner has their own desk.

There are b learners in Grade 3A and 2L in Grade 3B.
How many desks do we need for both classes?

Working with a qutner

Look at how these three learners used a number line to solve the Prob|em. Comp|ete the sums using

the exc:mple.

+10 +10 + L
A
Lb 56 bb 70

This is what I do: I first add 10. This br‘ings me to Hb.
Then IJumP another 10 to get to bb.
And |ost.|3, |‘jumP L, more to land at 70.

=46+ 10+ 10+ 4

=50+ 10+ 4
= bb + 4
=170

a 32+ 25=

| 2 8 &4 B 6 7 © 9 [0




I must add 24
OO

(0]

This is what I do: First I wi||JumP L. That will bring me to 0.
I canumP 20 more, which br‘ings me to /0.

= LO+ 10+ 20
= 50 + 20
=70

11z 18 14 15 16 17 [8 19 20




b. 571+ 19=

This is what I do: From 4.6, I canumP 20. That br‘ings me to bb.
Now I have toJumP L, more and then I reach 70.

= Lb+ 20+ 4
= bb + 4
=70

+ 20 + 4
- /_\/\ . I must add
| | 2/, to ,b.
Lb b 70

a. b3+ 2[|.=

\/

b. 65+ 29 =

I 2 8 & B 6 7

g 9 10



The baker delivers 54 brown -and b8 white loaves.

a. How many loaves a|t09ether‘?

b.  Find the total on a number line. Show the numbers and the size of theJumPs.

Add the fo"owing without using a number line. Use any other method you like.

11z 18 14 15 16 17 [8 19 20



Subtract on a number line

One |ecrner! One ru|er!

Tl‘\e ClGSS neecls 53 ru|ers. We have on|3 35
HOW mqnﬂ more dO we need? 53 - 35 =

Wor‘king with a Partner

Read how the same three learners use a number line here. ComP|ete the sums using the exqmp|e.

I have to subtract
35 from 53. Subtraction

means to take away.

18 20 23 33 43 53

So, I will start at 53 and take away. T'll take away IO, 10,10 — that brings me to
23. Now to take away five. First, I take away 3, and I come to 20. I take away 2
more and I Set to 18. So we need |8 rulers.

=353—-10-10-10-3-2
= 43—-10—-10-3-2

=33—-10-3-2
=23-3-2
=20-2

=18
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-5 -3 -0 Subtraction means to find

F N AV the difference between
1 | e 53 and 35.

35 LO L3 53
T'll start at 53 and count down to 35 to find the difference. If T count back

bl:j 0,1 9et to £3. I can count back 3 more to Set to 4 O. Then I count down 5
more to get to 35.
IO P|us 3 P|us five is 18. So we need I8 more rulers.

|\

a 38-Il4=

11z 18 14 15 16 17 [8 19 20




ubtract, on a number line (continuecl]

b. 65— 43 =
c. 12—-39=
d 85—-48=

\ 4

+ 10 +5 +3

< = > I can start at. 35 and see
| | | | how many Jumps it takes

35 L5 50 53 me to count up to 53.

I can start at 35 and see how manBJumPS it takes me to count, up to
53. Ten P|us five |o|us three is 8. We need |8 more rulers.

. J

qa. 8[,.—32 -
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b , Croins bﬂ taxi

TheJourneH |c>3 taxi to town is 65 km.
So far the taxi has travelled 38 km.

How much further to SO?

Use the number line to solve this Pro|o|em.

Ve

11z 18 14 15 16 17 [8 19 20




ooooooooooooooooooooooooooooooooooooooooo

It's Pdr‘tﬂ time
First P|c|n!

Busi asks all of her friends to Sive her a Picture of their favourite Pcr‘tﬂ food. This is
what she has collected. He|P to sort it.

Count,, and write how many friends choose each Kind of food.

i @

Number
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Counting up to 200

Count the qppIes.

Fill in the numbers.

|Boxhas [ | apples IRowhas [ | apples
I ROW I'KJS : bOXGS [p ROWS I\GS : GPPIeS
:.,'—.'_- -

Count on the number line.

a. How many a|o|oIes will there be in five boxes?

B :...o.* ...... *.,..o.‘:,..o.*.,..o.a _
hl I I I I I I I I I [~

0 o 20 30 4O 580 60 70 8 90 100

b. How many GPPIes will there be in seven boxes?

“T | | | | | | | | | g
O 10 20 30 LO 50 &0 70 80 90 100
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3 lotsof |O make

5 lotsof 1O make X = or X =
2 lots of |O make X = or X —
5 Pairs of feet..

How many toes q|together"?

IO+ 10+ 10+ 10 + IO=- 5x10

or |Ox5=

Do these in the same way.

L Pairs of feet. How many toes?

or

. J

-
9 Pairs of feet. How many toes?

5 Count in |Os.

10, 20, 30, 40, 50,

,200

11z 18 14 15 16 17 [8 19 20




Now count the fish. Find the total.

Counting in Os

Find the total number of fish eggs. Write a + and X number sentence.
We have done the first, one for you.

Fish and eggs How many eggs q|together?

Sfish eachlay2eggs |24+ 2+2+2+2=10 5x2=10
S fish, each |q3 1O eqgs

5 fish, each |c13 [,. eqgs

5 fish, each |c13 3 eggs

5 fish, each |c:3 b eggs

5 fish, each |c15 8 eggs

5 ﬂsh, each |c13 5 eggs

| 2 8 &4 B 6 7 © 9 [0



5+5+5+5+5+5+5=

a | | | | | | | | | e
@) 5 10 15 20 25 30 35 LO L5 50
5+5+565+5= or X =
b 1 | | | | | | | | | ™~
o) 5 (@) 15 20 25 30 35 LO 45 50
5+5+5+5+5+5+5+5+5= or X =
o 1 1 T T T T 1 g

| |
O 5 10 1B 20 25 30 35 4O L5 50
+ + + + 4+ +_ + 4+ +_ = or 10 X5=250

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

f Catching fish
Sipho catches between 4O and 5O fish. He counts them in 2s and has | left over.

He counts them in s and has 2 left over. How many fish does Sipho catch?

11 12 18 14 15 16 [7 18 19 20



HOW monH PQiI"S O'F SOCl(S?

How many socks are there?

Are there any socks left over?

| 2 8 &4 B 6 7 © 9 [0




Counting Pairs of socks

Whrite how many Pcirs of socks there are and say if there are any left over.

Number Number Sing|e socks

of |oc1ir‘s of socks left over

11 12 18 14 15 16 [7 18 19 20




Count in 2s (continued)
BuiHinS Pairs

Write down the even and odd numbers from | = 60.

a.  Whrite down the even numbers from | — 60.
2 1.,b,

b.  Write down the odd numbers from | — 60.
3957

¥

by Odds and evens

DI"GW (o} circ|e QPOUI'\CI the even numbers.

Draw a square around the odd numbers.
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From Pair‘s to socks

Example: )

2 socks = | Pqir ‘ 20 socks = 10 Pqirs

2X|=2 2 X110 =20
\_ J

a. Write how many socks.

Think in 2s Number sentence
| pair = 2 socks | (x| 2 | =] 2
2 pairs = socks 2 Ix| 2 | =
[,.Ioair‘s = socks
8 pairs = socks
9 pairs = socks

b. Show the sum on the number line and comP|ete.

EXGmPIGI

2+2+2=b0r3X2=b
...................... N DY

11 12 18 14 15 16 [7 18 19 20



oooooooooooooooooooooooooooooooooooooooo

In South Africa we use rands and cents as our money.
We started to use rands and cents in [96l.

In those daﬂs the | cent coin had the lowest, vc1|ue, then the 2 cent coin and then the 5 cent coin.

*s

)

.----’.

o EHN EN EN BN BN W

&

Yes, ou’r‘e

T used these small coins
to ay for alot of things.
hings were so cheap
then!

right,t ey are
no |on3er' Eeing

que!

But, Gogo, I
have not, seen

|and 2 cent |

coins.

About 50 years aqo we Yes, I remember! | Pound was
still used pounds, shi |ings 20 shi||in95, and | shi"ing was 12
and pence. ' pence.
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-----------------------------

Cthelnts. OOOOOOOOOO
How many cents are there? c c O O c c c c 0 0

2000000000
22229222200
e T S 20000000
we e 1007 CCOCCCCCCC
900000 |
292299 |

Draw them in the block. c c O O c c c c c 0

2900000000,
R200 = c
RS0 = c

2 ‘ ‘ cost, RL.00. 2 % 5 cost R2.00.

How many bananas for R20.00? How many apples for RI00?

11 12 18 14 15 16 [7 18 19 20



| tricHC|e has wheels.

5tric3cleshove_wheels. 3+3+3+3+3=5%x3=__
2tricycleshave  wheels. 3+3=2X3=

L tricycleshave  wheels.

b tricycleshave  wheels.

Qtricycleshave  wheels.

Btricycleshave  wheels.

a 3+3+3+3=
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b.

A

|
O 3 b q |2 15 18 2l 2L 217 30
3+3+3+3+3= = X =
T | | | | | | | | | I

O 3 b q [2 15 I8 2l 2L 27 30

d < >
| | | | | | | | | | |
@) 3 b q 12 15 I8 2 2L 27 30

At the 03c|e shop Busi counts bic30|e and tric30|e wheels.

There are l£, wheels o|together.

How many bic30|es are there?

How many tric30|es are there?

1112 18 &
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COWS hqve f‘OUI" |egs.

Some £, number facts ...

L+L=82xL=8

What, else comes in fours?

|

Share answers.
Exp|ain what, you did.

. o Aeae e
Yo b i b
5 cows {1 e b cows logs
7 cows {1)° e S s bee
b Gl ke

I 2 8 & B 6 7
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Complete the table below. Use the examP|e to 8uide you.

3 cows have legs. | L+ h+h=3XL=__ I
5 cows have logs.
L, cows have legs.
7 cows have logs.
8 cows have legs.

Number lines

Show the mu|tiP|ication sum on the number line and com|o|ete usingJumPs (hops).

1112 18 &

16 17 18
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oooooooooooooooooooooooooooooooooooooooo

Which number Pc:tter‘n do the circles in each OO gr‘icl show?
Draw more circles to comP|et.e each Pattern.

Write a name for each Pqttern.

a. Pattern: b. Pattern:
(o] (o) (o] (o] (o) (o) (o)
(o} (o} (o} o (o) (o) (o)
o (o} (o} (o} (o) (o) (o)
(o} (o} (o] o (o) (o) (o)
(o} (o} (o} (o} (o) (o) (o)
o (o] (o} (o} (o) (o) (o)

c. Pattern: d.  Pattern:

o
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a. In this number Pattern all the numbers are even. What, can the other numbers be?
Whrite them in.

00000000

b. In this number Potter‘n the numbers are all odd. What, can the other numbers be? Write them in.

C XXX KX XA

Where do t.l‘\eld be|on3?

The 3s and Lis Pattern The 3s and 5s Pattern The Lis and &s Pottern
0.9 48

At the sea

Thembl co||ects between 60 and 70 sea shells.
When she counts them in 3s, she has | left over.
The PossiHe numbers are: bl, ., 10,
When she counts them in Bs, she has 4 left over.

The POSSible number‘s are:

HOW man she”s CIOGS Thembl hqve?

1112 18 & H@ 16 17 18 19 20 67




We can write it as

b. Share the sweets among 3 children.

LY —

c. Divide the sweets between 5 children.
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Now do these.

Q.

11 12 18 14 15 16 [7 18 19 20




Division (continued)

Use the number lines to write a subtraction and division number sentence.

Examp|e:

e I .

O 2 A b 8 [0 12 A [ 18 20
b-2-2-2-2-2-2-2-2=0
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\ J

©© ©000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000,
. .

Challenge

ShOW G" the WGHS HOU can

divide 2/ sweets eclua"lj

between dif ferent, groups
of children.

Whrite a number sentence

to ShOW HOUF‘ answer.

©© ©00000000000000000000000000000000000000000,
© 0000000000000 00000000000000000000000000000 o°

. .
© 0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000 0°

11 12 18 14 15 16 [7 18 19 20



— &

Orne third One fifth One quc:r‘ter* One half

I] 6 7 ©8 9




000
GO0
©  ©
000 000

©
o0 00
o0 00
* We got 2 counters | * We ot * We gqot
each. counters each. counters each. counters each.
* Half of 4 counters | ® of o of o of
is 2. counters is counters is counters is

L+2=2 +

. 2
>
©

888
o G e
© ©

one oluqr‘t,er‘ of the sweets = 3

® two quarters of the sweets =

four quarters of the sweets =

* three quarters of the sweets =

* one third of the sweets = _
* two thirds of the sweets = _
* three thirds of the sweets = o

1 12

13

4

I'5

16 17 18 19 20




2:15 5:30 9:45
cluc:r't.er‘ Past two half Post five cludr‘ter toten

Write these times in 2 different ways.
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GOIHS home

How |on9 does Ben take to get home? :_‘\.1-' v ™
.“"n 2",
minutes %s 3-:2
- P
L7
hours
Ben leaves school. Ben gets home.

HOW mqnﬂ Ve
minutes in 2 hours?
hours in 2 daﬁs?
daﬁs in 2 weeks?
months in 2 Hecr‘s?
Apri| Maq June \
-,- e M e e RS
J A ".:5-" HOW manH ddﬂso 81a(IOf 1 [I12]13]14 6789|0112 3|L|5|b6|7]|8]4a
151161711819 |20] 2! IB3[I4 |15l ]|17[I8]19 10 11 |12]13]I14 |5.
Aoril 27 is Freedom Da 23[24 28] || [20] 21]22]23]24]25] 26 17[18]14]20] 21]22]23
P 3 30 27(28(29(30] 3l 24125|26]27|28|29 30/
June 1bis Youth Dcﬂ.
a. From Freedom DCIH to Youth DQH there is months,
whole weeks and CJQHS.
b. How many whole weeks in all?
: How many ddgs left, over? . How many dGHS inall?
c. Lebo's bir‘thclqg is 1 cloﬁs before Freedom Dqg. |: Check. Co mpare. :|
: Musa's bir‘thclaﬂ is two ddHS after Youth DCIH. Correct.

Who is o|der‘? BH |’10W mqna dCIBS?

11 12 18 14 15 16 [7 18 19 20



Tar‘get 200

Count.ins the numbers

Count and say all the numbers from 0] to 200.
Point, as you go.

101 | 102
If
12|
13l
149
154
165

173 180

18l 186
198 200

) Writ.ins the numbers
a.  Write the missing number in each blue square.

b.  Whrite in the rest of the numbers.
c.  Write the next IO numbers after 200.

200;
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Write the missing numbers

I . [zoo[ [ 80

L] el

0 207 |

50

237

( h

Write the numbers in order

from smallest to biggest.

il Count.ing on from |00 ’
7 Work out, what You need to 9et to the next number. 3
Start | |OO +25 > 125 > |29 138

--------------------------------------------------------------------------------------------------------------------
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oooooooooooooooooooooooooooooooooooooooo

\A/or‘king with groups of numbers

Packing candles

Ma Nkosi works at, a candle factorﬁ.
When the candles are r‘eqdﬁ, she Pocks them out like this in boxes on racks.

'||'|u |||n| |||||| {ulu i,
(it h

(AT T (i, (i

ar ol == _“-.-

S, il Qi lul ik il

_-._——‘ ..————'.

(AR

HOW mong conc“es in ecch IDOX?

HOW monH bOXGS on eoch I"GCk?

HOW mona ccnd|es on edCh PGCk?
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BOXGS O'F canc"es

Ma Nkosi closes the boxes.

a.  Count all the boxes.

HOW mang bOXGS?

How many candles c|t09et|'\er?

How many more boxes does she need to fill to have 200 candles?

b. HOW monH cqnc”es in:

2 boxes? § L, boxes? §

5 boes? § 3 boxes? §

b boxes? § 7 boxes? 8
c. How many boxes does she need for:

LOB boxes 708 boxes

506 boxes 304

11 12 18 14 15 16 17 18 19 20



Putting tens together and

toking them qqut
Putting tens together when we add.

_|_
7
7
7

5 tens and b units 7 tens and 3 units

- J

Together we have |2 tens.
We can Put IO tens toegether‘ to make | hundred.

Let's add
5b + 13 =

17 2 8 4 B 6 7 © 9 10



Exqmple: 82 + 34 = I and @ =0O

Ve

- 100 +20 + 6 =126

. b3+ 952
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tqking them aPart (continuecl]

Use HOUF‘ P|qce va|ue blOCkS.

Use base ten blocks to All together Did you group tens or units? Write the
make these two numbers. how many tens? Check the P|ace value where number.
how many units? You regrouped.
tens Il tens + 12 units
23+99= units =110 + 12 122
38 + 25 = bers
units
tens
77+3l= .
units
_ tens
68 + 45 = units
_ tens
- units

Taking tens aPart when we subtract

When we subtr‘dct, we sometimes need to show

one ten as ten units, or one hundred as 1O tens.

Let's subtract: 6O —55 =

We start, with six tens and no units. We want to subtract five tens and five units.

(The units we are taking away we coloured gre )
g awvay Jrey

R [ | [ |
oonD g8 .
1 [ ] [ ]
o .| .
OO0 [ ] [ ]
We can show six tens like this. Or as five tens and Take away five tens and five units.
ten units. Five units are left.
b0O-55=5
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Let us tr‘a.
a. 10-28

DONUNEN |ENEmESssss munnnna#¢ee
7 tens b tens an d 10 units 70— 28 =

b. 90-4b

c. 80-53

Finclins the number B2

200 200
30

11 12 18 14 15 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

How many times a dcﬂ
do you Erush your
teeth?

a.  Count the ticks (\/ ) showing how often children brush their teeth. Write the numbers.

Once a day

Twice a ch

Three times a dcﬂ

b.  What can You see from the table?

Most, of the children brush a clcﬂ.

There are children in the group.

17 2 8 & B 6 7 8 9 10



Draw a Pictogr‘aph of how many times a dag the children brush their teeth.

\

[ = |time]

DO a surveﬂ in HOUI‘ ClCISS. ASl( |5_2O |eqrners.

a. How many times a CJGS theﬁ brush their teeth?

b. Drawa Pictogr*cph like the one above to show your ﬂndings.

11 12 18 14 15 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

Busi can add units and tens and regroup them. She can add and
subtract on paper, without blocks. Sometimes she likes to

start with her number cards to show the numbers.

So for the sum 56 + 73, she finds these cards: fShe writes it. out, like this: A
50 +70 +b+ 3
- n - — 50+ 70 +9
=120 +49
=100 + 20 + 9
She adds the units and Puts down the 9 card. . k= 129

She knows: 50 + 70 = 120.
She takes the hundreds, the 20 and the 9 card

to make a 3—di3it number.

s

e )
Dumi knows how the blocks work.

She does 5b + 73 like this:
50+6+70 +3

e
Adkar likes to round off.

Here's how he does this one:

56 + 73
120 +4 —50+70 + 10—
— |29 | =130-I=129
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(Busi’s method I Dumi's method

80+b60+0b+2 80+b+60+2
b. 72+ 63
& J J
c. 8l+57
r \ ( )
& J J
d 69+ Use Aakars method to do this one.

f \ )
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Add and combine (continued)

Now let's subtract.

rBusi's method i Dumi's method
80-50+7-3 80+7-50+3
=30+ 4 _30+1

\ B 3L J L — 3L

b. 95-73

& J U J

c. 8b-b2
N\ [ \
J U J

d 85-69
N\ [ \

\.

W1 23 4 6 6 7 8 d 0




- I’ Solve it!

e
There are many ways to add units and tens together‘. Choose the way you know and like best

to solve these Prob|ems. Show your work.

a. Peter first Picks 3l Peqches and then b7 Peqches.
How many Peocl‘ues o|together?

b.  The Malusi kids save RLT togetlwer‘.
Their mother Sives them another R58. How much do theH have now?

c.  The school bus travels 88 km in the mor*ning and 73 km in the afternoon.
How many km c|together?

11 12 18 14 15 16 17 18 19 20



Solve it!

USG qna methocl HOU |||(e ShOW UOUI" WOI"|(. j

Sipho Andile

Sipho counts out 87 bottle toPs. Andile counts out 38.
How many more bottle tops does Sipho count, than Andile?

MUSG

Musa sells tickets. He had 92 tickets to begin with. He has b7 left.
How many tickets has Musa sold so far?

17 2 8 4 B 6 7 © 9 10



There are 69 chickens in one pen and 95 in another.

How many chickens are there altogether?

Reod hOW Clugu cnd AGI(GI" SOlVG the Pr‘oHem. X

GUSUIS WGH I subtracted |.
=100 + 50 + IL
=[50 + 10 + 4

a. The bogs collect R9b for a class tr'iP. The 9ir|s collect R79.
How much do theg collect altogether‘?

Use GUSU’S WGH Use Adkdr‘ls WGH

b.  One school collects 76 kg of cans. Another school collects 68 kg cans.
How many kg of cans do the two schools collect q|toget,her~?

Use GUSUIS WGH Use AGI(GI"’S WGH

11 12 18 14 15 16 17 18 19 20




Count and calculate

Finding the Part.

Write in the missing numbers.

! oo | P* | 100 “l 1o | ¢ | 100
27 39 48] 56
|l 200 | [ 200 3| 200 | M| 200
1,0 11O 135 120
) Subtractlng back from 220 to |00
Subtr'dct the numbers in the Plnk box each time.
We have done the first one for You.
220 —15 —| 205 -5 — -10
J H . \
-20 to check Houtrj‘
Start at, [00.
-9 <1 -9 —20 Work back
to 220.
-10 But this time,
add the numbers.
15 ~10 5 || 100 | r

2 38 & B 6 7 8 9 10



4

<

N

50 more and 50 |ess
: ‘:; 7 Whrite the answers in the 2nd row.

70 125 | 180 8l 96 122 | 134 Il 10
+50

120

186 200 | 158 | 179 139 79 126 | 138 99
-50

|36

11 12

18 14 15 16 17 18

19 20




Meosuring in centimetres

How bis is a centimetre?

| 2 3 A 5 b 7 8 9

The numbers on the ruler stand for centimetres.

We use the abbreviation or sHmbo| cm.

When You use a ruler, You must start to measure from O.
Some rulers do not. show the O like the one on this page.

Find zero cm on the ruler. Write O on the ruler.

Where is O cm on this ruler? Write 1O there.

Estimate, then measure accur‘ate|3 with your ruler, the |ength incm of

the line mdking each shoPe.

/

a. Estimate cm b. Estimate cm c. Estimate cm

Meqsure Measure Meosure

17 2 8 & B 6 7 8 9 10



How many cm |on9 is each line?

a cm
b cm
C. cm

Are HOU sure?

Which is |on9er, the red line or the green line?

HOW can HOU check?

N

/ \ ( This is what is called an oPtica| illusion. \

This haPPens when your eyes are tricked into seeing
something that is not r‘eq"S there.
The two lines are the same |en9t|1.
The black lines ext,ending outward make the red line look

|on3er and the black lines 9oin3 inwards make the green

\ line look shorter. J

11 12 18 14 15 16 17 18 19 20



Tar‘get 300

. 4 ) Counting and writing the 200s

Count from 201 to 300.
Point, as You go.
Then fill in the blue numbers first.

White in the rest of the numbers.

20| 207 210
2l
22|
23|
249
201,
265
213 280
28| 286
298 300

White the next IO numbers after 300.

300;
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What's theJumP?

30l

28|

171 2ll
(0]
Showing and comparing
P a Write the numbers that go in each card.
298; 208; 30I; 276: 227 269; 3l
b.  Write the numbers in order from smallest to biggest.
i ‘ ,, Write the missing numbers.

Start [ 200 +25 225 231 2.9

|

v

300

28b

218

11 12 18 14 18 16 17 18

19 20



2 dding and subtracting with 100s

YV, Y
)) Using blocks to add

(- III \ (- IIII \
. .

1324 12

Busi's method (Dumi’s method
— 100 +100 +30 +20 + 2 + 3 132 + 123
=200 +50 + 5 =200+50+5
=255 J| =255
b. 4 + 162

17 2 8 4 B 6 7 © 9 10



c. 216+ 148

r

a. 188-146
[ Busis method

=0+10+2
=12

=100-100 +50-L0 +8-b

Studﬂ each method. Work out, each sum in two ways.

Dumi's method

198 — 146

—0+10+2
=12

N\ O

194 — 122

Vs

288 -199

N\ O

11 12 18 14 18 16 17 18

19 20



Tor‘get 400

. £ ) Count.ing and writ.ing the [..OOs

Count on from 300 to 400.

SGU the number‘s as HOU 90.

Write the missing numbers on the Sr‘id.

30l 310
315
330
33l 335
249
365 368
213
390
400

Write the next 9 numbers after 400.

4OO0;
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Count 'FOPWGPdS and chkwarcls

Counting forward from 300 in tens.
Start | 300 —{ +10 = +l0 |- +l0
|
+lO
v
End <— +10 «— +I0 — +I0
b. Count back from 4OQO in tens.
Start | 4,00 -10 -10 > -0
|
-10
v
- —10 < —|O - -0
|
-10
v
10 |- 10 |- 10 |- End

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Whrite as one number

300+ 20 + 4 = 300 +10+ 5=

300 +80 + 3= 300+70+7=
300 +60 + 2= 300 +90 +9=
300+ 80 + 1= 300 + 4O +8 =

White the answers in order from smallest to biggest.

11 12 18 14 15 16 17 18 19 20



Weighing N

Add some ki|ogr~ams.
Add and write the answers.

( Think smart! )

Jackal 25 kg Tortoise 98 kg Baboon 59 kg BGbH zebra 88 kg Pelican 9 kg

Round of f the mass of each animal to the nearest |O kg.

Write the mass of each animal in order from |ight to heavH.

Estimate the total mass of the 5 animals.

17 2 8 & B 6 7 8 9 10



I may not. be as heova as you, old Tor‘toise,

but, I sure am faster!

Y

Steps

e Use your rounded of f amounts to estimate.

® Estimate the mass of the animals in each row.
*  Calculate the totals usin9 the actual mass.

O Compcr‘e the two totals and write the difference.

I estimate I caleulate The difference

( Check. Compqre. Correct. j

Their total mass is 239 kg. How much does Vusi weigh? Show You answer.

What's my weight?
P|c13 ina group. Take turns ...

Add your mass to the mass of some of the animals. Work out the
total. Tell the answer to the group. Don't, show them your work!
The3 must then trH and work out, Yyour mass.

11 12 18 14 15 16 17 18 19 20



Target 500

/Y [

6 ) Counting and writing OO
4Ol JAO) 410
L 420

L22 L27

TRCIA
LLb
458

462 10

413 L1
48l 490
499 | 500

a. Count on from [,.OO. SGH the numbers as You go.

b.  Whrite the missing numbers in the grid.
c.  Whrite the next 9 numbers after 5OO0.

9500;

d.  Count in 2s. Write the next 8 numbers in the 2s Pattern.

LOO; LO2;

e. Countin 5s. Write the next 8 numbers in the 5s Pat.t.ern.

LOO; LO5;

17 2 8 4 B 6 7 © 9 10



s Fill in the missing numbers.

a.  Add forward from 4O0.

Start | 4,00 — +20 > +30 — +l0
|
+I0
v
End — +50 «— +|0 «—{ +20
b.  Count back from 500.
Start | 5O0 -2 > 498 » 96 L9l
|
v
L3, |« LBl |< Lk |< 48l
|
v
JATA - LOL - 402 OO0 | End

Showins the numbers. Follow the examP|e.

Find the totals. Use your number cards to show each total.

LO5+10 | 4I5S | LOO+I10+5 || 398 + 10

L4b6 + 10 424 10

11 12 18 14 15 16 17 18 19 20



More aclding and su|otr‘act,in9

You are Soing to use Busi's and Dumi’s methods agqin to add.

o 245+ 23
(Busi's method f Dumi's method
— 200 + 200 + 4O + 30 + 5+ | 245 + 23
=400+70+6 =400 +70 + 6
= L16 =416 )
b. 278 + 136
265 + 14,8

17 2 8 4 B 6 7 © 9 10



—. We are 9oin9 to use Busi's and Dumi’s methods to subtract.
a. L1b6-32L

Busi's method (Dumi's method
= L00-300 +70-20 + b4 76 + 32
=100 + 50 + 2 %&2
=100 + 50 +
=162
{ (=182 )
b. £489-/,56
r \ ( Y
|\ J U J
c. L82-l6l
r \ ( Y
|\ J U J
Ian
R300 i ‘
X <h r2s50 | | |
1£|— > 50 R200 : £|
Reochins the target. R189 TRl I; |
R100 :
R50

Studﬂ the Picture.

How much more to reach the tor‘get?

11 12 18 14 15 16 17 18 19 20



oooooooooooooooooooooooooooooooooooooooo

Match each answer in the table to a letter in the code.

Al B | C|D E F | G| H I J K L M
I 2 3 L 5 b 7 8 q (10 | | 12 | 13
N | O P Q R S T U VI W | X Y /
L |15 (16 | 17T |18 |19 20| 21 |22 |23 |24 | 25| 2b
Number clues Answer Letter
ExamP|e:2X3X3><|=|:| 18 R

50 + 50 + 50 + 100 -200 - 45 =[]
|+24+T7+10+7+1-14 =]
60-30 +50 + 20-50-15-20 =[]
3+2+7+1+2+1+3=0L]
5+3+30=4+2+12+11
I00-5-70 =20 +[]

36+ L4 —-60-2=[]

0 +15=14 +[]

2+1+14L+9+1L =25+
IX2XxX2%X2x2=[]

The mountain's name is

| 2 8 &4 B 6 7 © 9 [0



Look, think and answer!

o O x C % O O x C *x O

I 2 3 4 5 6 7 8 9 I0 12 13 14 15
B What shope will number 16 be? Tick (v ) the right, one. * O (
What shope will number 18 be? Tick (\/ ) the r‘ight one. * 0 C
What shcpe will number 23 be? Tick(\/ ) the r‘ight one. * O (
b.
Number 50 will be a *. True or False?
Number 100 will be a ©. True or False?
Number 28 will be a €. True or False?

( Check. Compore. Correct. :

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

¢ Which is more?

To get R250 a daﬂ Pocket money
for June and Ju|3.

Orto get RI5O total Pocket money for
the two months?

Show how You worked it out.

11 12 18 14 15 16 [7 18 19 20



What do You notice about these shopes?

ngmetr‘td

e

J

A line of SHmmet,r divides a shaPe into two
halves so that each half is a mirror—imose

of the other.

A shope has sgmmetr‘tj if you can fold
it a|on9 the line of sgmmetrﬁ so that the
two halves match excct,|3.

Is the dotted line a line of SHmmetr'H or not. Circle the (Y) Yes or (N) No.

Y/N Y/N

Y/N Y/N

1

2 8 & B 6 7 © 9 10



Draw shqpes to make the Picture sammetr‘ica[

We have done the first one for You.

Create your
own sgmmetrica|
ccrpet using

shopes.

e o o e e e e e e e — — — — —————

11 12 18 14 15 16 17 18 19 20
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Bui|c|ing up to 500

Ka.

ComP|ete and mu|tiP|3

| basket, holds apples.  |1X10 =10

3 baskets hold apples. |3 10 =

5 baskets hold apples.

J, baskets hold apples.

2 baskets hold apples.

| crate holds 100 apples. 2 crates hold apples.
3 crates hold apples. | 4 crates hold apples.
5 crates hold apples. | 2 half crates hold apples.

17 2 8 4 B 6 7 © 9 10
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) Ther‘e are IO GPPleS in I bqsket.

There are baskets in one crate.

There are GPPleS in one crate.

How many dPPleS are there a|together‘?

, Lo i
First use number cards to show each total. Then write in the number. h

3 crates --I- L, baskets Q-I- o) GPPleS ' = 345 GPPleS
L, crates - + 5 baskets Q-I- 7 dPPleS ' = GPPleS

O crates -+ 2 baskets Q-i- 3 GPPleS . = GPPIGS
[.. crates - + 7 baskets Q-l- 2 dPP|es . = GPPleS

11 12 18 14 15 16 17 18 19 20



Mu|ti|o|icqtion and division (|O)

Counting the GPPleS.
Fill in the table.

How many baskets hold the alolo|es?

Appes @ | 10 20 30 4O 50
Baskets Q | 2
- sum 50+10=5
5X10=50
Divide the QPPleS between the children. Make a dr‘qwing.
White a division and mu|tiP|icqtion sum to check your answer.

Check you answers
[J+C]=0]
Cx =00

W 1 23 46567 8 9




Whrite a = sum

Whrite a X sum to

check your answers

J o J

Use the numbers to make your own number sentences.

NG ‘ Write a number 1O smaller and 10 bigger‘ than the given number.

, 60, ,390, 500,

11 12 18 14 15 16 17 18 19 20



Count, in 2s
[
) Countins forwards and backwards in 2s

a. 232; 234 ; ; ; 24.2; ; : 248
b. 500; ; [96; ; : 490;

c. LbO; ; ; LO0; ; 360;

d. 34l; ; 36l; ; ; 341; WAk

Pairs of 9|oves

a. How many Pairs of 3|oves in one row?

b. How many sing|e g|oves in one row?

C. HOW manﬁ POWS?

d.  How many 9|oves c|t09ether‘?

e. Show how You work it out.

£ Write your answer as a number sentence.

X —
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HOW mdnﬂ SIOVGS?

White in the tables.

% | Pair of w
3|oves 2l 1O
Number of 9
3|oves
b.
Sin9|e g|oves 20 2| 70 13
Pairs that

can be made

Sin9|e g|oves

left, over

Count in twos

a.  Which number comes in between?

204, , 268 341, , 395 L4, , 410

b.  Whrite the next two numbers.

313,315,317,319 | 480,482, : 262, 261,

c.  Whrite the next two numbers.

3L, 348, LIS, 4IT, : 297,299,

11 12 18 14 15 16 17 18 19 20



How shall T place
them?

Mrs Mabena has some Pr‘ettﬂ tiles.
She uses them to pave an area in her gor‘clen.

There are b square tiles of the same size.

I can make I can make 2 rows with I can make 3 rows with
| row with b tiles. 3 tiles in a row. 2 tiles in each row.

bX|=06b 3X2=56 2X3=5b

Now it's your turnl

Shade blocks to show how You can arrange 8and 9 square tiles.

8 SCiUGI‘eS q SClUGf‘eS

Whrite number sentences for each drdwing.

17 2 8 & B 6 7 8 9 10



R Z 7 Arrqnse 12 tiles

Thc has 12 quor‘e tiles to pave next to the house. He||:> him find all the ways he can do this.

Whrite a number sentence for each way.

Example: I X |2 — |2
HEEEEEEEEEEE 2% | =2

Arrange 2L, tiles

*  Usethe grid in Cut - out, sheet, 2.
*  Shade 2/ blocks in different ways.

*  Whrite number sentences to match each drowins.

3 X =12 9= X 3

2L =3 X

11 12 18 14 15 16 17 18 19 20



Using fives

Knowing your 5s

Fill in the answers.

I 2 3 A S b 8 9 [0

a. HOW monﬂ conc"es in ecch l‘.')OX?

b. How many boxes in each row?

C. HOW mqnﬂ cond|es in each I"OW?

d. How many candles a|together?

Showins the answer

Tick (\/ ) the number sentences that show the total number of candles.

b. 15X 3= c. 3IXE5X5=

d I5X5=

17 2 8 4 B 6 7 © 9 10



ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Co"ect.ing R5 coins

Th children collect RS coins. How many RS coins do theg need to collect to have R 7

: We have done the first two for Yyou.

{| R5+R5 RIO + R5

= I coin = 2 coins R|5f) RQO’) R25’)

| R307? R35? RLO? RL5? R507?

3 Do you see the
2%R5=|R L, XxR5=|R pattern?
3xR5=|R b XxXR5=|R

u

Mult’iPIHinﬂ bﬂ 5s [Examplez I X5=511x5=5852x5=105 ]
Think smart! Build on facts You know!

L4

I 2 3 A S b 7 8 9 |10
5 | 10
| 2 | B | 1L |15 |16 7T |18 |19 |20
99

11 12 18 14 15 16 17 18 19 20
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